@ v %D YeThIpPE 3HAKA TIOCIIE 3aISTOM, MTOPSIIOK ONEPaIiii co
< A CKOOKaMu

Nwms: Hara:_ Omenka:
10(5,7 +2,6)+2 = (5,8+4,1)x2,5-5,4=
(5,9+4,7)x4,4+4,1= 4,2+4,7)x2,3—-6,8=
4,4—4,6)x6,1—5,9= 203,9+5)+5=
2,7+3,2(4+6,1)= 2,3+5,52,5-4,7)=
3,1-6,93,6—4,9)= 30(5,2+6,3)~6=
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@ v %D YeThIpPE 3HAKA TIOCIIE 3aISTOM, MTOPSIIOK ONEPaIiii co
< A CKOOKaMu

Nwms: Hara:_ Omenka:
10(5,7+2,6)+2=41.5 (5,8+4,1)x2,5-5,4=19.35
(5,9+4,7)x4,4+4,1=50.74 4,2+4,7)x2,3—-6,8=13.67
(4,4-4,6)x6,1—5,9=-7.12 20(3,9+5)+5=35.6
2,7+3,2(4+6,1)=35.02 2,3+5,5(2,5—-4,7)=-9.8
3,1-6,93,6—4,9)=12.07 30(5,2+6,3)+~6=57.5
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